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Sec
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1) a) A- axis : D= Iz ,
V-axis : y - axis

b) 10,0 ) ( 0,7) 110,12) ( 10,5)

c) 12,3) 110,8)

d) ( 0,1 ) ( 2,1 ) ( 2,2)

3) No ,
it's one to one when UZO

a) u- axis : positive x-axis , V - axis : Y -axis

b) [0,13×1-1,1]
C) y -_ Mx ,

O Exel

d) xeo. . I , y=Mx . . I

13/5=31-27 - 4-1=-10

15) J= Sin (T) - sink) -Kosi) - 1=7



17) F- eos III) . 4651¥) -145in III. sin = 4

79) ( 4ut2v , at 3v)

23) 5=31-2) - 1.1=-7

H f ! f ? 7 dxdy = 105
b) Sif ! 7 dxdy -- 126
Sec 16.1

1) Fll , 2) =L 1,17 FIP)

Flea-11=4-17

Floy

3) Flo , 1,11=40,1 , 07
7- .

.
. FIHF- 12,40) = ( 21012 ? *2- .
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17) C

23) div ( F) = y t 2

curl (F) = ( 2 y - y , O - I-3xD , O - X S = Cy , 3×2,
-x>

25) div ( F) = I - 4 ex - X t 22×2

curl (F) = CO - 7 , -2×2 - 2×22, - Y - 07 = L - I , -2K- 2×22 , -y>

27) div ( f) = O

C Url ( F) = ( I - 322 , I - 2x , It 297


